INTERMEDIATE EXAMINATION 2021 (ANNUAL)

MODEL SET
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gfenfefal & farv fAder —

Instructions for the candidates :-

1.  Candidates are required to give answers in their own words as far as
practicable.
olemrefl JATHT MU TRl H & IR |

2. Figures in the right hand margin indicate full marks.
qIe 3R BIRR R QY g 3 Yulie fAfqse &vd 2 |

3. 15 Minutes of extra time has been allotted to the candidates for reading

the questions carefully.

9 U UF Pl FYdd UgH & ford wienel &1 15 e &1 sifaRaa
a9y fear war 2

4.  This question paper is divided into two sections: Section-A and
Section-B
g YT UF 31 WGUS| H B, WUS—3] Ud WUS—q

5. In Section-A, there are 70 objective type questions. Out of which
any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 questions will be evaluated. Each

question carries 1 mark. Darken the circle with black or blue ball



pen against the correct option on OMR-Answer Sheet provided to
you. Do not use whitener/liquid/blade/nails etc on OMR-Answer

Sheet, otherwise the result will be treated as invalid.

GUS—31 H 70 IR U &, ST A i 35 UeHIT ITR <1 3ff+1aR] B | 35
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In section-B, there are 20 short answer type questions, each carrying
2 marks, out of which any 10 (ten) questions are to be answered.
Apart from this, there are 06 long answer type questions, each
carrying 5 marks, out of which any 3 questions are to be answered.
Gus—q H 20 Y ITNY U ¢ | UAP b ford & 3 FeiRa 7, o= |
bl 10 Ul BT IR <A1 A 2 |59 AR, 39 @ue H 06 <™
IR U 2 | IS & ford 5 3id MeiRa g, RSTH & {2l 3 Tl &1 SR
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Use of any electronic device is strictly prohibited.
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Wus—31 / SECTION-A
(a¥xgfss weA) / (Objective Type Questions)

Question numbers 1 to 70 have four options, out of which only one

is correct. You have to mark your selected option on OMR-answer sheet.

Answer any 35 questions. (1x35=35)

g9 GIT 1 W 70 Tb & TAP Y9 & A1 IR fddpey 7 v & o8 9

TP WEI & | 30 T g 1Y 98l fdded d OMR-STR U596 WR faf~ed o | =i

35 U3 & SN < | (1x35=35)

1.

Ipise fhd goR & fheed &7

A. Imaf® B. AgHdSTH
C. anfas D. ¢7ds
Which type of crystal is graphite?

A. lonic B. Covalent

C. Molecular D. Metallic

fie—adfad TAHR SHE Al H URATVRAT &) FedT Bl & —

A 2 B.3

C.4 D. 12

The number of atoms present in a body centred cubic unit cell is -
A 2 B.3

C.4 D. 12



IR & V[T UM BT SRR B —

A. g B. agHE

C. T@IAIh  I~IT D. @™

An example of colligative property of a solution is -
A. Density B. Mass

C. Elevation of boiling point D. Temperature

frferRad o @9 41 Ul \aw o1fde f@Hie /e H - I~ Hal 8°
A. K,SO, B. NaCl

C. R D. "o

Which of the following substances produces maximum depression
of freezing point?

A. K,SO, B. NaCl

C. Urea D. Glucose

&fad NaCl & Jgd 3rvees | HAls W Jad &Il § —

A. TR B. |AIfsTH

C. A SIH M H D. gssIo

The substance deposited at cathode during the electrolysis of
molten NaCl is -

A. Chlorine B. Sodium

C. Sodium amalgam D. Hydrogen



U TAISTS BT AFG ATFRIBROT fa9aT +0.76v B, AT $HBT HIFD AHR

favg g —
A.2x0.76 v B. 0.76/2 %
C.-0.76 v D. S8 ¥ ®I3 78l

If the standard oxidation potential of an elecrode is +0.76v, then its
standard reduction potential is -
A.2x0.76 v B. 0.76/2 v

C.-0.76 v D. None of these

T @ U BT TefdbIol Ud Thaerd 9+ @ 3THihar &l 74 JdR |

ST ST § —

C,H,,0., +HO0 LIS CH,O, + CH O, Js siffhar & —
A. fgda sife @1 B. U% 3v®

C. BgH U2H HIfe Bl D. 39 | &g 78l

The inversion of cane sugar to produce glucose and fructose is

represented by the reaction.

C H,0. +HO ™ CH 0 +CH. O, the reaction is -
A. 2" order B. Unimolecular
C. Pseudo first order D. None of these

fosdt srfafepar &1 o frifed eR 9 =9 8iar ®, 9 = K[A[B] 59
arfafshar @1 Pife Brft —

A. 2 B.3



10.

11.

C. 1 D.o

The rate of a chemical reaction is expressd as : Rate = K[A]}[B].
The order of the reaction would be -

A.2 B.3

C.1 D.o

fIe[d—&d & U9 | Piciige]l BUI BT THT DHEAR & —

A. 3rqre B. s uvg

C. U™ D. dgJddu—Heel

The migration of colloidal particles under the influence of electric
field is called -

A. Dialysis B. Tyndall effect

C. Emulsion D. Electrophoresis

I8 WTgfad yared RTHd o1 &1 Fshyor BRIGHS 8IAT ©, HEa © —

A. 3T%H B. @fvst

C. grgda D.

The natural substance from which the extraction of metal is profitable
is called-

A. ore B. mineral

C. slag D. gangue

AAEs faf gRT U o1 ® —

A. HIfEgH B. BN



12.

13.

14.

C. Ry D. vqffas

The metal obtained by cyanide process is -
A. Chromium B. Copper

C. Silver D. Aluminium

f=ferRad & ®IF ggsiorE §9 98] 9911 § °?

A. NH, B.H,0

C. HCI D. HF

Which of the following does not form hydrogen bond ?
A. NH, B.H,0

C. HCI D. HF

S, § AHR Bl JATRINHROT =T & —

A +2 B. +8

C. +4 D.0

The O. N. of sulphurin S, is -

A. +2 B. +8
C. +4 D.0
fFreforiae AT § Tad Yaol 31 © —

A. HCI b. HF

C. HBr D. HI



15.

16.

17.

The strongest acid amongst the following is -
A. HCI b. HF
C. HBr D. HI

TRy # vqa= v J3 # {6 4t &1 fsor yyad g § 2

A. ATSSIO + TR + fohed B. 9 + SffRioE + fohed

C. Bifelad + 3faIoT + Aggio D, fibed + ffepdoe + |
The mixture of which of the following gases is used in the instruments
used for the respiration of divers ?

A. Nitrogen + Oxygen + Krypton B. Neon + Oxygen + Krypton
C. Helium + Oxygen + Nitrogen  D. Krypton + Oxygen + Neon
HHHOT @l BT AT et ARV & a8 —

A. s—<dii® H B. p—<if® #

C. d-<dfe 4 D. f—<df® H

The position of transition elements in periodic table is within -
A. s-block B. p-block

C. d-block D. f-block

et | 19 Yord HshHYl dedl & #Aofl BT dew T8l § 7

A. Cr B. Fe

C. Mg D. Mn

Which of the following is not a member of first transition series ?



18.

19.

20.

A.Cr B. Fe

C. Mg D. Mn

clITSS Aqged b ded & forg ITRarT 27

A. Zr T Y @ s s e 2

B. Zr @1 Nb 1 3ifaRfiaxoT 3raver §HH 2 |

C. Zr @1 Hf @ a1 o 9914 2 |

D. Zr QT Zn &1 SHHEIHRT =T A ® |

Lanthanide contraction is responsible for which fact?

A. radii of Zrand Y are similar

B. the oxidation states of Zr and Nb are same.

C. radii of Zr and Hf are almost similar

D. the oxidation state of Zr and Zn are same.

fFrIfeRaa FpvoT o1g @ Sl H BIF Ufgedr &7

A. Co* B. Ni#

C. Cu* D. Zn?

The ion of which of the following transition metals is diamagnetic?
A. Co* B. Ni#

C. Cu* D. Zn?

Sifed amae [Cu(NH,), ]2 @1 wReT & deli 8, o S e 3ma o

Cu?* &1 UHHNIT 2 —



21.

22.

23.

A. sp® B. sp3d?
C. dsp2 D. dsp?
The shape of [Cu(NH.,),** is square planar. The hybridization of Cu®*

in this complex ion is -

A. sp? B. sp3d?

C. dsp2 D. dsp?
[Pt(C,H,)Cl,] & Pt aifafiexor e 2 —

A. +1 B. +2

C.+3 D. +4

The oxidation number of Pt in [Pt(C2H4)CI3]_ is -
A. +1 B. +2

C.+3 D. +4

ApvS] Ffeadadrgs w1 IUPAC -9 © —

A. 3—FARIICH B. 2—FIRI&CA

C. 1—FARI—2—Hr U= D. 2—FARI—2—Hfra U=
The IUPAC name of sec- Butylchloride is -

A. 3-Chlorobutane B. 2-Chlorobutane

C. 1-Chloro-2-methyl propane D. 2-Chloro-2-methyl propane
ferforRaa & fod af @ gRT U™ R), Aavet Ud <RRRY sredpied # favg
fpar Srar 87

A. iR fafer B. &4 Ui R fafe
C. fagex w2 fafer D. S<fad |+t



24.

25.

26.

Which of the following methods are used to distinguish Primary,
Secondary and Tertiary alcohols ?

A. Oxidation method B. Lucas reagent method

C. Victor Meyer's method D. All of the above

e # fhddr wanT Mgddae & w9 § BIdr &7

A. FARIGH B. JATSI®BH

C. Tiifeefi D. faor

Which of the following is used as an anaesthetic ?

A. Chloroform B. lodoform

C. Acetylene D. Methane

Dfeqgd TiIee &l T4 &1 9 f=falRad & 19 i g8rar g 2
A. UfreT Tiee B. HfcegZS
C. vie D. vHefoserss

Which of the following is obtained when calcium acetate is heated?

A. Ethylacetate B. Formaldehyde

C. Acetone D. Acetaldehyde

Uehlgel H DI I&dl § ?

A. —OH foharefia ot B. —CHO fshamsiiel Heldh
I

C. —C=0 fpareficl qeTdh D. — NH, fehareiter qoid

Which one is present in an alcohol ?



27.

28.

29.

A. -OH functional group B. -CHO functional group

|
C. -C=0 functional group D. -NH, functional group

f=foRag & o9 Ufoserss iR i d fave &) Iohdr g ?
A. wefel faeraq B. ®iResd ST
C. frre fdyad® D. 379 ¥ I3 &l

Which of the following can differentiate between an aldehyde and a

ketone ?
A. Fehling solution B. Caustic soda
C. Grignard reagent D. None of these

USRI U &1 et gore frefalaa § o 8 2

A.-NH- B.-NH

2

C.NH D.NH,*

3

Which of the following is the functional group of primary amine?

A. -NH- B.-NH

2

C.NH D.NH,*

3

9 vd 3red &Ry KMnO, & HieT &1 $el Srdl & —

A. B sl B. e it
C. TR AMHHD D. dfele &1 3ff¥ehh
Dilute and slightly alkaline KMnQ, solution is called -

A. Fenton's reagent B. Lucas reagent



30.

31.

32.

C. Baeyer's reagent D. Tollen's reagent

fhetel B ST & oI & A1 IaTed IR A=feiRad § @ g=9a1 7 ?
A. TSI B. UHilele

C. o= D. S fhrass

Which of the following is obtained when phenol is heated with Zn?

A. Nitrobenzene B. Aniline

C. Benzene D. Zinc phenoxide
Pl sl @1 Brardier gors & —

A. -CHO B. -CO-

C. -COOH D. -OH

The functional group of carboxylic acid is -

A. -CHO B. -CO-

C. -COOH D. -OH

e TR D o ST NaHCO, & Hge e Riea & axrt w
Heharee Bl & | 1 # 9 98 s diffre 8 ?

A. Teb B. Vedie

C. Wfifed et D. Tforef Yeebreiel

An organic compound on reaction with agueous concentrated
solution of NAHCO, produces effervescence. Which of the following

is the compound?



33.

34.

35.

A. An alkane B. An alkene

C. Acetic acid D. Ethylalcohol

ey B FrEfRed § W fbe 93 W o T W @ 7

A. RCOR B. RCOOR

C. RCOOH D. RCHO

An ester can be represented by which of the following formulae?
A. RCOR B. RCOOR

C. RCOOH D. RCHO

ATeVedh= & THRI F g7 © —

A. TS THE B. eR& wim

C. Urgsl UHH D. garesi}l Jqor
Reduction of nitroalkane gives -

A. Secondary amine B. Tertiary amine

C. Primary amine D. Quarternary salt

DNA @21 RNA % A w35 SUReId & —

A. VEIFIF, AISCRIM, JRTRTA B. UM, VSIFH, AR
C. o, RIRTe, omgdi= D. TSN, g, I
The common base present in DNA and RNA are -

A. Adenine, Cyotosine, Uracil B. Guanine, Adenine, Cytosine

C. Guanine, Uracil, Thymine D. Adenine, Thymine, Guanine



36.

37.

38.

39.

frforRad o @9 ARRUTIT A9 IRR gRT T8l 9171 S 7

A. ToTTsH B. faeifi=

C. ureH D. HM

Which of the following is generally not prepared by human body?
A. Enzyme B. Vitamin

C. Protein D. Harmones

fr=forRaa # foa 9ga® # YAEe o Bar & 7

A. TIAT—6, 6 B. SRl

C. <war D. dderrse
Which of the following polymers has amide bond?
A. Nylon-6, 6 B. Terylene

C. Teflon D. Bakelite

3ifei vd 9ga® & —

A. SSTFARITE BT B. VfhelFTSCISa W*l
C. UIHIg® 3+ D. dSi9 &1

Orlon is a polymer of -

A. Tetrafluoroethene B. Acrylonitrile

C. Ethanoic acid D. Benzene
fFrferRad H &9 B Hier aife<l g ? —

A. A B. tWReH



40.

41.

42.

C. AIfsa¥ ATSTFART D. s &1
Which of the following is artificial sweetening agent ?
A. Saccharin B. Aspartame

C. Sodium Cyclomate D. All of these

F=feTRad H DI —1 a1 R $H R © 2

A. TATCTSIRY B. Ufearifes

C. Ufeurfes D. SueH®
Which of the following medicines reduces fever ?
A. Analgesic B. Antibiotic

C. Antipyretic D. Tranquilizers
fereferiae & @1 fgcdiae de € ?

A. Tt el B. ofs RS 4
C. I=vT 9 D. g8 &I

Which of the following is a secondary cell ?

A. Leclanche cell B. Lead storage battery

C. Concentration cell D. All of these
SFfErRIToT &7 Ufshar Bl & —

A. ST B. g el
C. 3iTeRfTehRoT D. 3o

The process of Adsorption is -



43.

44.

45.

A. Endothermic B. Surface phenomenon

C. Oxidation D. Reduction
fFrferRad # Ha1 vae oF et di 27?

A. CH,COOH B. CICH,COOH
C. CI,CHOOH D. CI,CCOOH
Which among the following is the strongest acid?
A. CH,COOH B. CICH,COOH
C. CI,CHOOH D. CI,CCOOH
%ﬂ:r% § <RI UHE @19 § °?

A. @ B. CH,-NH-CH,

G i
C.CH,-N-CH,CH, D. CH,-CH,-N-CH,CH,
WhichN%f the following is a tertiary amine?

A. @ B. CH,-NH-CH,

GH, H.
C.CH,-N-CH,CH, D. CH,-CH,-N-CH,CH,
RNA # 917 S aTelT QR W4 &

A. T B. 2argHM
C. |TSeRiA D. e
The purine base present in RNA is

A. Guanine B. Thymine

C. Cyoticin D. Uracil



46.

47 .

48.

49.

ST, UTeTeerged g A= 9t €

A. T8 98P B. Ig= I8l

C. 9¥ s8d® D. Theldh

Teflon, polystyrene and neoprene all are

A. Copolymer B. Condensation polymar

C. Homopolymer D. Monomer

< fAaRY B <At B ©
A. tfeamfes B. TATeIRT®
C. SUH®H D. vfeurrfes

Pain killer medicines are called

A. Antibiotic B. Analgesic
C. Tranquilizer D. Antipyretic
=1 5 e el I &7

A. AIfSTH FARTSS B. Utrge

C. SI¥s D. Ryeer grse

In which of the following, there is Frenkel defect?
A. Sodium chloride B. Graphite

C. Diamond D. Silver bromide

RIS T R FfeiRad 4§ fhddr Faerdie |ad I R ?

A. 0.1 m NaCl B. 0.1 m g&Is



50.

51.

52.

C. 0.1 m BaCl, D.0.1mCH, O

6 1276
Which of the following would have highest boiling point at
atmospheric pressure ?

A. 0.1 m NaCl B. 0.1 m Sucrose

C. 0.1 m BaCl, D.0.1mCH, O

60 1276

AISTH FARTSS ® STl °lel B fagfd f[aese d3- IR g4Ig Ud Rule W)

I ufawhd & —
A.F,, Na B.F, H,
C.0, Na D.O,, H,

The product obtained on electrolysis of aqueous solution of
sodium chloride at anode and cathode are -

H

272

A.F, Na B.F
C.0,, Na D.O,, H,

Sl ® H,(g) + Cl(g) = 2HCI srfafshar &1 »ife & —

A. 3 B.2

C. 1 D.o

The order of the reaction H,(g) + Cl,(g) = 2HCI over water is -
A 3 B. 2

C. 1 D.0

frel I & ST Adg R T B AT R BT B |



53.

o4.

A N B dT ) B.19 & g9 WX

C. 19 &I Udpfad W D. SWa ¥ 9T )

The amount of a gas adsorbed on the surface of a solid depends

upon
A. Temperature of the gas B. Pressure of the gas
C. Nature of the gas D. On all of the above

Hedl Al | AMYfG & wu H FEfoRad § o9 A1 d s qE |
IURerd Vel &7

A. BIRBIRY B. Hr=rsT

C. bre D. fafera=

Which of the following elements is present in the largest amount
as impurity in pig iron?

A. Phosphorus B. Mangnese

C. Carbon D. Silicon

=1 5§ 9 B A1 ifaarss SHIeE! © ?

A.Na,O B. MgO

C. SO2 D. ZnO

Which of the following oxides is amphoteric?

A.Na,O B. MgO

C. SO2 D. ZnO



55.

56.

S7.

58.

fa=forRad & a9 uael ofifadd 3T I 87

A. BF B. BCI,

3

C. BBr, D. Bl

3

Which among the following is the strongest Lewis acid ?

A. BF, B. BCI,
C. BBr, D. BI,
feferad &1 T 9 € —

A. gar B. feaH
C. AFITSe D. 5

The main source of Helium is

A. Air B. Radium
C. Monazite D. Water
fFfeRaa § & I 27

A.S B. Sb
C.P D. Br

Which of the following is a metalloid?
A.S B. Sb
C.P D. Br
SO, 37 # S YA BT YHHRT &

A. sp B. sp2



59.

60.

61.

C. sp? D. dsp?

The hybridization of S in SO, is

A. sp B. sp?

C. sp® D. dsp?

H,PO, 8 T& ...

A. THIIRS o7t B. fgwif¥e 3wt
C. Pifss ot D. g7 ¥ &I3 2l
H,PO,isa........

A. Monobasic acid B. Diabasic acid
C. Tribasic acid D. None of these
TRERE AT & F B

A. Hg' B. Hg,*

C. Hg% D. S8 ¥ ®Ig 78l

The formula of mercurous ion is

A. Hg' B. Hg,*

C. Hg* D. None of these
Au &g @1 3ifaRfImRoT Hw@ gl ®

A +1 B.+3

C.+1 Ud +3 gFI D. 3% 9 &g gl



62.

63.

64.

The oxidation number of Au metal is

A. +1 B. +3

C. Both +1 and +3 D. None of these
K,[Fe(CN),] ¥ &1 Fe ydaxvl &1 g ?

A. dsp? B. dsp?

C. d%sp® D. sp3d?

What is the hybridization of Fe in K,[Fe(CN),] ?

A. dsp? B. dsp?

C. d%sp? D. sp3d?

o deiRTsS H Ag CN @ 11 TH &R+ R UTT &Ial & —

A. TId AT B. Uil ASAMIASS

C. Tiret T D. tfret FrEge

Ethyl chloride on heating with Ag CN gives

A. Ethyl cyanide B. Ethyle isocyanide

C. Ethyle amine D. Ethyl nitrate

U Vedbleal & A1 bt e o1 aififhar & vfrer Sigs awar 27
A. KBr B. KBr @ = H_SO,

C. Br, D. NH,Br

Which compound forms ethyl bromide on reaction with ethyl

alcohol?



65.

66.

67.

A. KBr B. KBr and conc. H,SO,
C. Br, D. NH,Br

AIRSTH CeifaaTgs i SIS AfAfhar exd <d ©

A. 7Rt Ve ger B. g $orR

C. ST 2R D. diud

Sodium ethoxide on reaction with bromoethane gives
A. Methylethyl ether B. Dimethyl ether

C. Diethyl ether D. Propane
C,H,,O foa Jaragdl $er yafdid oxd & ?

A.3 B.2

C.4 D. 5

How many isomoric ethers are represented by C ,H, O?
A 3 B. 2

C.4 D.5

fFrferRad AT # fhd IR gelag el gRT gRd SMMHHT BRT ?
A. FARTETAT B. d=iA

C. et D. cfetgA

Elecrophiles will readily attack on which of the following ?

A. Chlorobenzene B. Benzene

C. Phenol D. Toluene



68.

69.

70.

feforRad # fhaedT SuanT wHfed & w5 # gar g ?

A. HCHO B. CH,CHO

C. CH,CH,CHO D. CH,COCH,
Which of the following is used as Formalin ?

A. HCHO B. CH,CHO

C. CH,CH,CHO D. CH,COCH,

IE PIEIfI(Th 7 Sl Sl AMBRSD DI fadrd Bl ©
A. HCOOH B. CH,COCH

C. CH,CH,COCH D. S99 & 9T

A Carboxylic acid which reduces Tollen's reagent is

A. HCOOH B. CH,COOH
C. CH,CH,COOH D. All of these
FARSA BT GF © —

A. CHCI, B. CH,CICHO
C. CCI.CHO D. CHCI,CHO

The formula of Chloral is
A. CHCI, B. CH,CICHO

C. CCI,CHO D. CHCI,CHO



Lus—9 /SECTION-B

TSI 9 / Short Answer Type Questions

U A1 1 ¥ 20 Tb TSN © | fHEl 10 Ul B SR & | UhD D U 2

3 FaiRa 21 (2x10=20)

Question nos. 1 to 20 are short answer type. Answer any 10 questions.

Each question carries 2 marks. (2x10=20)

1. ghIs Aol I 3T T AT & 2 2
What do you mean by unit cell?

2. fO=pd RIS A I 87 U SQTERl ¥ |HSIH | 2

What is electrochemical cell? Explain with one example.

3. g ¥ S o & Hdg H fAed—RErie g BT Seelg B | 2
Discuss electrochemical principle about rusting of iron.

4. o1g @ dgha A Al @ dfera aoE w | 2
Explain in brief electro refining of metals.

5. Uldcl fehlgel Bl AT FARIBGH H DY Faeiil ? 2
How would you convert ethylalcohol into chloroform?

6. f=ferRad @1 IUPAC =8 ford | ’ 2

I
(i) CH,-CH=CH-COOH (ii) CH,-N-CH,-CH,CH,

Write IUPAC names of the following -
H

I
(i) CH,-CH=CH-COOH (i) CH,-N-CH,-CH,CH,



10.

11.

12.

13.

14.

15.

16.

SURHEG | MY FIT A & 2 2
What do you mean by Tranquilizers?

Jhellse WR S A ford | 2
Write short note on Bakelite.

IETEROT & 1T Hifrd AT 3R ATt AfrSNyor o gRETST &Y [2

Define physical and chemical adsorption with suitable examples.

AgoH deg Rigr= @1 weraar A [NIiCl]> & WReT &7 qoid &y | 2
Discuss the structure of [NiCl,]* with the help of Valence Bond
Theory (VBT).

T 3ral | UHICH 3 6 UTal Hal? 2
How would you obtain Acetone from Acetic acid?

"I 3T VfeseTsS SR 3T IFI 1T 3RV HRdl 8 | TRAT PN |2

"Formic acid behaves both as an aldehyde and as an acid." Explain.

Ul o fhATe 319 & T dHeil? 2

How would you obtain phenol from aniline ?

o—gfelad AT & @@ @ foly $IF a1 §¢ IaRerl g1 87 2
Which bond is responsible for the stability of a-helix structure?
3t Al # YRiefessrgs wd HCN @1 ufdfshar &1 aofF o | 2

Discuss the reaction of Acetaldehyde and HCN in acidic medium.

fore e Iffhar & 997 ReRid I 31T =T HH I &7 2



17.

18.

19.

20.

What do you mean by the rate constant of a chemical reaction?
VAT T[UTRH T § AU 01 gAl b AW T | 2
What are colligative properties? Write names of colligative properties.
are gt 0T T § 7 2
What is Van't Hoff factor?

U BT HgCl, 31 SuRerfy # CS, & w1 T 3=+ IR &7 811 © 72
What happens when ethylamine is heated with HgCl, in the presence
of CS,?

DNA fR—fufeT &1 fb=si a1 S &l fordd | 2
Write two use of DNA finger printing.

qresTe wed /Long Answer Type Questions

U9 TRAT 21 W 26 TP g SRIT U9 & | TAP U & 1w 5 3fd uiRa g |

fp=el 3 Uzl &1 SR < | (3x5=15)

Question nos. 21 to 26 are long answer type questions. Each question

carries 5 marks. Answer any 3 questions. (3x5=195)

21.

22.

UH BIfe oI IfAfhar qr 87 UM dife &1 AfAfhar & a1 SaTevvr < | U
PIfe B AfAfrar & 97 ReRid & forv ai9d e o | 5
What is first order reaction? Give two examples of first order reaction.

Obtain an experssion for the rate constant of a first order reaction.

TRTERT Ud ORI G191 IRYTST o | fhell rareaeiiel vd augey faory



23.

24.

25.

26.

& MOIH GHE BT ITOET TRRRYN S1d AU B Ao F &¥ {Bar Siar 87 5
Define Osmosis and Osmotic pressure. How the molecular mass
of a non volatile and non-electrolyte solute is determined with the

help of Osmotic pressure measurement?

ARSI & R AT T 57 ARSI DI Aol 919 H DA UK B 575

What are the main sources of lodine? How is lodine extracted from

sea weeds?
AR & &I I D! BT M fordd | S 31D | U Hed @l fafy et
T ford | 5

Give two important ores of Iron. Write in short the process of

extraction from its ore.

FIT BIAT & Sfd 5
A. IF SfcATHT BT BT Il T fHar Sm 22

B. FRIBH I & YTl H §dT & YD H 3Tl &7

What happens when

A. Dry calcium formate is strongly heated?

B. Chloroform reacts with air in the presence of sunlight?

YIE P YTSEN AT BT Soold DN | 5

Discuss primary structure of protein.





